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QUESTION 1

Which of the following descriptions of MPLS header TTL are correct? 

A. Copy IPTIL value is handled in such a way that the LSR of the MPLS domain is hidden, which plays a certain security
role 

B. Can prevent wireless circular forwarding of messages 

C. MPLS has two ways of handling TTL, one is that the IP packet copies the PTTL of the MPLS header hen it enters the
MPLS network Value; Another is to set the TTL of the MPLS header to 255 at the entrance LER 

D. When copying TTL is disabled, tracert can see the LSR of the passing MPLS domain 

Correct Answer: BC 

 

QUESTION 2

The MAC address of a PC is 5489-98FB-65D8 The administrator wants this PC to get the specified P address
1921681.11/24 from the DHCP server So the administrator-configured command should be, 

A. dhcp static-bind ip address 1921681.11 mac- address 5489-98FB-65D8 

B. dhcp static-bind ip address 1921681.11 24 mac- address 5489-98FB-65D8 

C. dhcp server static -bind ip address 1921681.112552552550 mac-address 5489-98FB- 65D8 

D. dhcp server static-bind ip-address 1921681. 11 mac- address 5489-98FB-65D8 

Correct Answer: D 

 

QUESTION 3

In an HWIP multicast network, where multiple sources exist and each source has several receivers, which protocol
allows source-to-RP traffic and RP-to-receiver traffic to share the same tree 2? 

A. MOSPF 

B. PIM SM 

C. DVMRP 

D. 56768GZliuji 

E. PIM-DM 

Correct Answer: D 

 

QUESTION 4
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In order to reduce the number of OSPF routes in certain areas, the OSPf protocol has developed special area functions,
and the following description of the characteristics of OSPF special areas is correct 

A. ASBR-Sunmary-LSA is allowed to be published to the NSSA region 

B. AS-External-LSA is allowed to be published to the Stub region 

C. Any OSPF zone can be configured as a special zone 

D. Zone can be equipped with zhiyi 

Correct Answer: D 

 

QUESTION 5

Regarding the MPLS handling mode of TTL, the following description is correct? 

A. Pipe mode. When an IP message passes through an MPLS network, the IPTTL minus l at the entry point is mapped
to the MPLS TTL field 

B. MPLS tags in the TTL, which mean the same as the TTL domain in the IP header. TTL prevents mpLS networks from
creating routing loops 

C. In Unifor mode, when an IP message passes through an MPLS network, the inbound IPTTL is minus 1. The
MPLSTTL field is a fixed value 

D. In MMLSVPI, if you need to hide the structure of the MPLS backbone network, you can use the Uniform mode on
Ingress for private network messages 

Correct Answer: B 
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